Numeracy
L.O. To be able to use negative nhumbers which occur
in everyday life (money).

If you had £100 in the bank and you spent £105, you
would be £5 OVERDRAWN (and the bank manager would want a

word).
Now work out by how much you would be

overdrawn if you had the amount of money in the
left column, and you spent the amount of money in
the middle column.

OVERDRAWN BY:-

MONEY YOU HAVE MONEY

YOU SPEND 4
£40 £45
£50 £58
£56 £67
£65 £87
£35 £45
£23 £66
£70 £98
£60 £78
£47 £67
£87 £90
£55 £77
£12 £60
£70 £105
£67 £110

4 .

Now that you've worked out all those amounts, can you explain in this frame how you
actually managed to work them out? And have you realised that all the numbersin the
far right column are actualy NEGATIVE numbers!!!







